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CLIENT#sh ip int b

Interface IP-Address OK? Method Status Protocol

Embedded-Service-Engine0/0 unassigned YES NVRAM administratively down down
GigabitEthernet0/0 10.106.38.136 YES DHCP up up

GigabitEthernet0/1 unassigned YES NVRAM up up

GigabitEthernet0/1.100 1.1.1.4 YES DHCP up up

GigabitEthernet0/1.200 2.2.2.4 YES DHCP up up

GigabitEthernet0/2 unassigned YES NVRAM down down

Loopback0 11.11.11.11 YES NVRAM up up

interface gigabitethernet 0/1.100 X! interface gigabitethernet 0/1.2002 ZtZ+ =

£ 7tX2& F 2EmolA °'I—|EF.

interface gigabitethernet 0/1.1002 7|2 0|1 interface gigabitethernet 0/1.2002 £ =

1Y d= Hu|agolM:

AD ZIO0|H =2 EX F&.:

ip route 0.0.0.0 0.0.0.0 GigabitEthernet0/1.200 dhcp 200
ip route 0.0.0.0 0.0.0.0 GigabitEthernet0/1.100 dhcp

QIE{H 0]& x| 80|M:

CLIENT#sh run int GigabitEthernet0/1.100
Building configuration...

Current configuration : 112 bytes
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interface GigabitEthernet0/1.100
encapsulation dotlQ 100

ip dhcp client route track 2

ip address dhcp

end

A

’._%I'_"L RIE{H 0| A0 M ip address dhcp EE

S Matis
grLiCh ip dhep client B232 DHCPOIA IP F4 & 7Hx4S mHEF =g
EEE F |p dhcp client HE0| A™E F<2, OtS ol 2H*E{7t DHCPUIM IP FAE

iy

x| o]l BHo| MEE|X| et&LICt

CLIENT#sh run int GigabitEthernet0/1.200
Building configuration...

Current configuration : 82 bytes
!

interface GigabitEthernet0/1.200
encapsulation dotlQ 200

ip address dhcp

end

IP SLA(MH|A =& AH|2): B2 L4 7|2 IEH 0|ATF FHELICE

CLIENT#sh run | sec ip sla

track 2 ip sla 2 reachability

ip sla 2

icmp-echo 11.11.11.11 source-interface GigabitEthernet0/1.100
ip sla schedule 2 life forever start-time now

ip sla auto discovery

CLIENT#sh ip route

.1.1.0/24 is directly connected, GigabitEthernet0/1.100
.1.1.4/32 is directly connected, GigabitEthernet0/1.100
.0.0/8 is variably subnetted, 2 subnets, 2 masks

.2.2.0/24 is directly connected, GigabitEthernet0/1.200
.2.2.4/32 is directly connected, GigabitEthernet0/1.200
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T80| SHEH X SsteX| Flsted{H o]l MMHE HEsHAAIL.

20| 7tSEH 7|2 HOo|EHol= Ctg E=E& 7|2 HOIESO|Z 2t?

CLIENT#sh ip route track-table
ip route 0.0.0.0 0.0.0.0 1.1.1.1 254 track 2 state is [up]

ip route 0.0.0.0 0.0.0.0 GigabitEthernet0/1.100 1.1.1.1 track 2 state is

CLIENT#sh ip route

Codes: L - local, C - connected, S - static, R - RIP, M - mobile, B - BGP

D - EIGRP, EX - EIGRP external, O - OSPF, IA - OSPF inter area

N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2

tZ| 740l ip dhep client
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E1 - OSPF external type 1, E2 - OSPF external type 2

i -

ia -

IS-IS, su - IS-IS summary, L1 - IS-IS level-1, L2 - IS-IS level-2

IS-IS inter area, * - candidate default, U - per-user static route

o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP

+ - replicated route, % - next hop override

Gateway of last resort is 1.1.1.1 to network 0.0.0.0

S* 0.0.0.0/0 [1/0] via 1.1.1.1, GigabitEthernet0/1.100

1.0.0.0/8 is variably subnetted, 2 subnets, 2 masks

.1.1.0/24 is directly connected, GigabitEthernet0/1.100

.1.1.5/32 is directly connected, GigabitEthernet0/1.100

2.0.0.0/8 is variably subnetted, 2 subnets, 2 masks

Q

2

.2.2.0/24 is directly connected, GigabitEthernet0/1.200

.2.2.4/32 is directly connected, GigabitEthernet0/1.200

L
E=0|CIREM 7|2 HO|IEQ 0|7t EX 7[O|EO|Z BIEErL|CH.

CLIENT#sh

ip route

ip route

CLIENT#sh

Codes: L

D - EIGRP, EX

ip route track-table
0.0.0.0 0.0.0.0 1.1.1.1 254 track 2 state is [down]

0.0.0.0 0.0.0.0 GigabitEthernet0/1.100 1.1.1.1 track 2 state is [down]

ip route

local, C - connected, S - static, R - RIP, M - mobile, B - BGP

EIGRP external, O - OSPF, IA - OSPF inter area

N1 - OSPF NSSA external type 1, N2 - OSPF NSSA external type 2

E1l - OSPF external type 1, E2 - OSPF external type 2

i -

ia

IS-IS, su - IS-IS summary, L1 - IS-IS level-1, L2 - IS-IS level-2

IS-IS inter area, * - candidate default, U - per-user static route

o - ODR, P - periodic downloaded static route, H - NHRP, 1 - LISP

+ - replicated route, % - next hop override

Gateway of last resort is 2.2.2.1 to network 0.0.0.0



S* 0.0.0.0/0 [200/0] via 2.2.2.1, GigabitEthernet0/1.200
1.0.0.0/8 is variably subnetted, 2 subnets, 2 masks

C 1.1.1.0/24 is directly connected, GigabitEthernet0/1.100

L 1.1.1.5/32 1is directly connected, GigabitEthernet0/1.100
2.0.0.0/8 is variably subnetted, 2 subnets, 2 masks

C 2.2.2.0/24 is directly connected, GigabitEthernet0/1.200

L 2.2.2.4/32 is directly connected, GigabitEthernet0/1.200
10.0.0.0/8 is variably subnetted, 2 subnets, 2 masks

C 10.106.38.0/24 is directly connected, GigabitEthernet0/0

L 10.106.38.136/32 is directly connected, GigabitEthernet0/0
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